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1 5 TO1 o fifRT ’jj
s (Physics)
W P= i—j+k @ 0= i+)—k B

iR 13 AaRke | fFor 7@, s Togs
=T AR cFge R w0 (If P=

1 —]’+ k and Q= [ + ] —/Erepresent the two
adjacent sides of a parallelogram, find the area
of the parallelogram in appropriate units.)

A.2V2 B.2 C.1 D. V2

10,000 kg wterRTz @36 2w <2 15000 kg
gt 7w 200 kg/s T LT IIBT ATATE
2000m/s Tt fsfe =7, wigra B TR 9FE
ytat 3t g8 39? (The initial mass of a rocket
including 10,000 kg fuel is 15,000 kg. The
fuel is being burnt at a rate of 200 kg/s and
the burnt gas is ejected with a speed

(relative to the rocket) of 2,000 m/s. What is
the thrust on the rocket?)

A.4x10° N B. 4x10° N

C.4x10*N D. 2x10° N
2

3 i ~+27x = 0 TRIAT @B T S o
t

FfFt FI@1 @R THAMET 9T ITFURTE TS?
dx

(3Et_i_+ 27x = 0 represent simple harmonic

oscillation. What is the angular frequency of
this oscillation?)

A 3rad/s B. V3 rad/s
C. .- rad/s D. 9 rad/s
=TI WY IZFE IR TR I ARET 7@
=2 &7 PR Red, w1 47 o7 Raed
s« £33 AR SIMA TR Y fRed =
be the change in the
=r~= between two particles if
doubled and that of the
separation between
them -
A. -
B. 1t&7 foqed @

C. 78 feet T2 (douws
D. & eee TR (1.5 rimas

06.

07.

08.

09.

10.

11.

05. 1 g w7 936 IZF 0.5m JEER 96 wyeli=

FSIFA A 2m/s APTES AR TR | 9F o<
YRR &) LTAHAY FI&HT T F5? (An object

of mass 1g revolved around a horizontal
circle of radius 0.5 m at a constant speed of
2m/s. What is the work done on the object
during one full revolution?)

A.0] B.1]J C.2] D.4]
ez fafRa IBR Ff9F @2 = (The angular

speed of the minute hand of a watch is)

A. 60/mtrad/s B. 1800/7t rad/s

C. mtrad/s X D. /1800 rad/s
fAwsr @R T [ s enfeal TErRTt vawe
382 1S & F@? (Which of the following

displacement vs time graphs represents the
motion of an object moving with a constant
nonzero speed?) A

A. B. C. D.

+

T -

FRE IS QAT TP TS m SFA GIB IJFE
T fire fRewe T ot i A P =
|17 (What is the lowest speed at which a

Jbody of mass m, when thrown vertically

upward from the Earth’s surface, never

returns to the ground?)

A.V2gR) B.(N2)gR* C.gR D._2V(gR)
a6 wwH s owta C,/C, = x T, fRtsa =
TR 93 @R e 7fF? (If C,/C, = x for
an ideal gas, which of the following relations
is correct for one mole?)

A C,=x-1R B.C,=R/(x-1)
C.C,=R/(1 —x) D.C, =R/ + x)
qIB TR TSR AT AW 5 T M3
TReEy A w@E@m FMr @ e ?
(According to the equipartition theorem of
energy, what is the total energy of a particle

whose number of degrees of freedom is 5?)
A kT/2 B.kT C.3k1/2 D. 5kT/2
q3% ITft WIWT g I o1 T e
AR e ot e SN fwm &
IR T, S YAWET IFS  (FAASIR
+faaf¥s zra? (If the heat sink temperature is
decreased while keeping the heat source
temperature fixed, what happens to the
efficiency of a Carnot engine?)

A. 3% 41 (increases)

B. w+f2af$s #1t= (remains unchanged)

C. I3t 4133 (decreases)

D. 391 €2 ¥ (cannot be determined)
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12.

13.

14.

15.

16.

17.

18.

19.

FR WA NICIR SAN@l FAfe cF RRod Tt
T, S WS rms I IS o IE Amw? (If
the temperature of an ideal gas is doubled in

the Kelvin scale, the rms speed of its
molecules increases by what factor?)

A 4 B.2 C.141] D. 0.5

IWS TSRS Ry @ty ofer &3z 39? (Find the
current passing through R; in the given

circle.) R;=1Q
& N
A.3A B.2A C.1A D. 0.5A

I sfgedzicgg FMEad I(t) = 20 sin(628t) =T,
oigee ofee @@ I=% 8 rms T 39? (If the
current flow is described by the equation
I(t) = 20 sin(628t), what are the frequency
and ‘rms’ value of the current?)

A. 100 Hz & 14.14A B.200Hz & 15A

C. 100 Hz and 20A D. 50 Hz and 14.14A
a6 wTefiT Rye AR 7RW 70A e
231fX® ZR | MIER 2m G BRF CF@I T
¥%? (A horizontal electric supply line carries
a current of 70A. What is the value of the
magnetic field produced at a distance 2.0 m
below it?

A.2x107° T B.4x10°T
C.10°T D. 7x10°T

a3f5 A= o1 Zre 2m G ST AIRCVA TN
E z7, 1m g SRwsi® 4R_Rena 95 3? (An
isolated charged point particle produces an
electric field with magnitude E at a point 2m

away. At a point, which is 1m away from the

same charge, the magnitude of the electric
field is)

A E B.2E C.4E D. E/2

IR SA ofdr 3 T3 @ I IR TG My RS
T oIz @ T g W «3ifys s 7= (If SA
current flow through a lamp for 3 hours, the
amount of charge passing through the lamp is)
A. 3.6x10* C B. 5.4x10° C
C.1.4x10° C D. 3.6x10°C

10 cm WO 2A ofRe o3zl 93 wre

. 0.2T ONITF@R NS T Fq1 T | SIER

TR 4T T FS? (A 10 cm long wire carrying
a 2A current is placed at right angles in 0.2T
magnetic field. What is the force on the
wire?) .
A. 4N B. 0.04N C.25N D. 40N

936 T 600 Hz © 400Hz =132 vt ==

SACHA SAXACIT A 1m T @ TG #HA

- @1 39? (If the difference in the wavelength

20.

21.

)95

23.

24.

25.

for two sound waves in a medium with
frequencies 600 Hz and 400 Hz is 1m, what
is the speed of sound in that medium?)

A. 1.2x10° my/s B. 1.2x10° m/s

C. 2.4x10% m/s D. 1.9x10° m/s
fAtsr FIF SATHT AT 97 a) A TSN
7 (Which of the following waves require a
medium for propagation?)

A. 98-@ (X-ray) B. @f®s (Radio wave)
C. *= (Sound wave) D. SfStagi(Ultra-violet)
FaR fagesfen «ft faema afesans V2
T g3 JIou RApfe @94 +? (If the
refractive index of an equilateral
triangular prism is V2, what is the angle of
minimum deviation?)

A. 35° B.40° C.30° « D.45°
G35 wmH Fi-qx T AnE A 93 w7 T
AT fAe TIRSIE A We T 9¥] ~AwWER
a1z fRed A1 Tra1, IS+ (AAEFI™ Z3- (A mass,
suspended from end of an ideal spring
oscillates up and down with a period T. If
the amplitude of the oscillation is double,

the new period of oscillation will be-)
AT B.2T C.T/2 D. 4T

QRGITE AN 24T (I ICFT S —13.6 eV
@ a7 fedin v =f$ 3=? (If the energy of
the first Bohr level in Hydrogen atom is —
13.6 eV, what is the energy of the second

level?)
A.-68¢eV B.-3.4eV
C.-272eV D.4.7eV

a3 dent o TR GRAN @ Bpwerd
weifes zeat | 7 BroR (557 W SMEG A
T, O TR TS T ww dAfesfas wirem
et Af* T TT? (Monochromatic light,
at normal incidence, strikes a thin film in
air. If the wavelength of light in the material
of the film is A, what is the minimum
thickness of the film for which the reflected
light will have maximum intensity?)

A. A8 B. 3A/4 C.AM4 D. A2
NGC 4472 saifa wmima syt setes 770
(km/s) FfeTe W @ IR TIA FIF 55
(km/s)/Mpc T= S siafE s NGC
4472 A 73g ¥3? (The NGC 4472 galaxy
Is-moving away from our galaxy with a
speed of 770 km/s. What is the distance of
NGC 4472 from our galaxy if the Hubble
constant is taken to be 55 (km/s)/Mpc?

A. 14 Mpc B. 77 Mpc ‘
C. 55 Mpc D. 28 Mpc

R
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26.

28.

29.

30.

01.

03.

ffem R Tfef @vwma ovua AfdT = (Wlnch

of the following is an incorrect statement for

photons?)

A, 9N Tg@E @Fos JER @t 59 (Photon

moves with the speed of light in a vacuum)

B. (@52 =@ ¢ & @R (Photon has no

energy and momentum)

C. =35 =1 G oI% Toq «¥ anf Fa0s A
.~.. can behave both as a particle and a

o4 977 (Mass of a photon is zero)
- et 110011, <93k 101101, 99 carsro=
en the binary numbers 110011, and
101101, are added, the result is)
A. 1100000, B. 1010101,
C. 1000010, D. 1111111, "
toterfaam 2Po (Z = 84) @n R ST
g =t ek (The element obtained after the
alpha emission of *po (2 = 84) is)
A. *"Po (Z = 84) B.*!°Pb (Z = 82)
C. ™At (Z = 85) D. ?'°Bi (Z = 83)
E «f$z7 936 oot wﬂvﬁﬁ 357 (What is the
wavelength of a photon whose energy is E?)
A. A=h/cE B. A =chE
C. A =c/Eh D. A = E/hc’
1 5’ e 3 F O J7 ][RR 0.95¢ QT
BRI T TUIE G RS tAega TN T2 (A meter
stick is moving parallel to its width at a speed
of 0.9c. What is its length as measured in the
laboratory?)
A.Om B.0.098m C.031m D.1.0m
Answer Keys: 1.A 2.A 3.A 4D 5.A 6D 7B
8.A9B10.D11.A12.C13.D 14 A 15.D 16.C
17.B 18.B 19.B 20.C 21.C 22.B 23B 24.C
25.A 26.B 27.A 28.B 29.B 30.D

A9 (Chemistry)
- fifem o IR PRl wodi-grat ot
) (Which of the following functional group
ortho-para position in a substitution

B. -COOH C.-CHO D.-(Cl]
- H,O & 33 & <5627 (What
H,O is added to NaCl?)
- aq) B. Na“(aq) + Cl(aq)
D. OH (aq) + Cl (aq)
ﬁﬁr:mzevma aAq1e e ot facfa
] standard heat of

combustion of carbon from the following
reactions.)

(i) C(s) + % O4(g) —» CO(g) AH’ = -111.0 kJ
mol™’

04.

05.

06.

07.

08.

09.

10.

11.

(i) CO(g) + 15 O4(g) > COx(g) AH’=283.0 kJ

mol™
A. -173.0 kJ mol™ B. -394.0 kJ mol ™
C.373.0 kJ mol™ D. 394.0 kJ mol™

FeATAR TN CHH APTSR WIS TR T
TagSE? (Which set of glassware is suitable
for an accurate measurement of volume of a
liquid?)

A. Pipette and beaker

B. Burette and reagent bottle

C. Pipette and byrette

D. Graduated pipette and conical flask

CO(g)+2H,(g) = CH;OH(g) Rfwsarm K, @z
1] - (The value of K, for the reaction is-)
A K,=K.(RT)" B. K, =K, (RT)”
C. K, =K, DK =K, (RT)’
SN2 Rfsatn sne=@a Wm AfFasr &
Tee- (The order of reactivity of alkyl halides
for SN2 reaction is-)

A. CH;X > RCH,X > R,CHX > R;CX

B. RCH,X > CH;X > R,CHX > R;CX

C. CH;X > RCH,X > R;CX > R,CHX

D. R;CX > R,CHX > RCH,X > CH;X

ffem Rt omm 31 &R w@ Wi Jw?
(Which of the following is not responsible
for the depletion of the ozone layer?)

A. UV-radiation B.CFC-12 C.Cl D.CO
et @3 Ry wat 43 a0 A1, TIREITEA
AanrgR IfMes IR Bifdten & Fd@ s 7 v
eyt A RS T@? (What is the minimum
wave number of radiation emitted for the
Balmer series in the spectrum of hydrogen
atom, where Ry is Rydberg constant?)

A. 7Ry B.5/36 Ry C.8/9Ry D.9/144 Ry
AT FIIUS o [Refen @[ vtz J3d TAwe?
(What type of solution is suitable for
determining the solubility product of a salt?)
A. Super saturated B. Unsaturated

C. Saturated D. All of them

Ry aftie Jqzz <& s &= zn- (The
correct order of strength for the oxy acids
is-)

A. HCIO, > HNO; > H,SO; > H,SO,

B. HNO; > H,SO; > H,SO4 > HCIO,

C. H,SO; > H,SO4 > HCIO4 > HNO;

D. HCIO4 > H,SO4 > HNO; > H,SO;

Y%= zr=t- (Erythritol is-)

A. An enzyme B. A non-caloric sweetener
C. An amino acid D. An anti-oxidant
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12

13.

14.

15.

16.

17.

18.

19.

20.

21.

fog <ff@ < e (@™m/foR) we-  (The
concentration (in mol/litre) of pure water is-)
A 355 B.1.0 C.555 D. 18.0

At = sFRw I FE-FBIE=? (Which

of the following is the most stable
carbocation?)

A.H;,C B. (CH;),HC”

C. H;C-H,C" D. (CH;);C’

it @ ciefor wERerd =6 A @M?
(Which one of the following elements has the
highest ionization energy?)

A. Na B.K C.Rb D.GCs

@R onafor B Twarm ww w8 I@? (The
presence of which elements spoils the
quality of coal?)

A. Nitrogen B. Phosphorus

C. Sulphur D. Oxygen

e e ewgyd Jemm, IMFrARBR

aeafas ES Teat- (The chemical formula of

kaolinite, an important raw material of
ceramic industry is-)

A. Al,05.2810,.2H,0 B. Al,05.3S10,.H,0

C. Al,03.2510,.3H,0 D. K,0.Al],05.6S10;
CH, = CH - CH,CHO @fote q9iats ¢ 93
Tt IR ARt T=- (The number of 6 and ©©
bonds in CH, = CH - CH,CHO respectively,
are-) '

A.9 2 B.8,4 C. 10,1 D. 10,2
R Rfdm 7% 317 R W 77 Tenr @ R
R eifes T ot g- (The factor(s) that affects
both equilibrium constant and rate constant of a
reaction is-)

A. Catalyst only

B. Temperature only

C. Pressure only

D. Temperature, pressure and catalyst

Ao | AP RE fF1R IREmTE W
137 I@? (Which compound forms the

strongest hydrogen bond?)

A. Ethanol B. Ethanoic acid

C. Water D. Ammonia

frtt oW PR G RN Tm Bt gwd]

“3A? (Which elements exhibits golden yellow

flame in flame test?)

A. Copper B. Chromium

C. Sodium D. Calcium

Ao RfFaBz cvta =0 3197? (Which one is

true for the following reaction?)

'SnCl, + 2FeCl; — SnCl, + 2FeCl,

A. Sn 1s oxidized
C. Fe 1s oxidized

B. Cl 1s oxidized
D. Cl is reduced

22.

23.

24.

25.

26.

217.

28.

29.

=R 3157 WisA (R e & @=t? (Which
is the order of deviation from ideal gas
behavior?) |
A. H,<N,<CO,<NH; B. H,<N,<NH;<CO,

C. CO,>NH;>H,>N, D. N,>H,>CO,>NH;
NaCl-93 &M% FITR ofoe Reqwe @S Py
Z¥ 7?7 (Which is not a product of electrolysis

an aqueous solution of NaCl?)
A. Na B. Clz C. H2 D. NaOH

T e A senfas Rfen 3w @WB?

(Which of the following reacts immediately
with Lucas reagent?)

A. Butan-1-ol

B. Butan-2-ol

C. 2-methylpropan-1-ol

D. 2-methylpropan-2-ol

0°C <rewiarm wifafm @3 NaNO, s HCl a%
R Teamte % Sromam et e 3 omem
Tw? (What is obtained when the product of
the reaction between aniline and NaNO, and
HCIl at 0°C is kept at room temperature?)

A. Benzene diazonium chloride

B. Chlorobenzene

C. Nitrobenzene

D. Phenol

sipeAEmfAT (FTEn -rer 3R AT AOE
wha  H3ife BeFB? (Saturated aqueous

solution of which salt is suitable for salt-
bridge in an electrochemical cell?)

A.KNO; B.KI C.KBr D. KCl
Ao = =qf® W NF? (Which of the following
molecule is linear?)

A.CO, B.SO, C.H)0O D. CH,0O

T$n af¥s, HX ¢ NaOH 3 RfFam sifisaafd
- HX (aq) + NaOH(aq) —» NaX(aq) +
H,O(I) ' NaX & Wy §3"a 781 pH ©°-
(The equation for the reaction of a weak
#acid, HX and NaOH is HX (aq) + NaOH(aq)
— NaX(aq) + H,O(I)c. The pH of the
aqueous solution of the salt, NaX is likely to
be-)

A.55 D. 3.0

B.7.0 C.85

" s IUPAC 7 zom-
(IUPAC name of the compound is-)
H,CH,CH,CH;
A. 1,2-methyl-4-butyl benzene
B. methyl butyl benzene
C. 1,2,4-dimethyl butyl benzene
D. 1-butyl-3,4-dimethyl benzene

o8
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30. Ao AtteTIE TG FAIGE IN LOARLD
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‘ch one of the following compounds has
e lowest boiling point?)
A . B. Ethane
C. Butane D. Pentane
Answer Keys: 1.A 2B 3B 4C 5B 6.A 7D
D11 B12.C 13D 14.A15.C 16.A
B 19.C 20.C 21.A 22.A 23.A 24D
27.A 28.C29.D 30.A

stffd® (Mathematics)

< 1 wATeifta IR &6 (The solution

2
S 3x

2
set of the inequality | 5 3%/ 1 is)

L

B. l>x>_1_

9 10
c.lax<l D. Lax<l
-9 6 3 2

1 \12
(Zx—z;f) @ Rgfers x> @@ J=t- (The

A 3<x<4

coefficient of x°

1 \12
(Zx—z;f) is)

A.495 B.4223 C.-1760  D. 1760
a=i+2j-3k e b=3i-j+ 2k T fAum=
@At so1? (ifa=i+2j—3kand b=3i—j +
2k, then which of the following is true?)
A.ab=0 B.aAab=0
C.(a+b).(a-b)=0 D.(a+b)A(a-b)=0
@ =@ oot gEE (3, 150°) T @ fIm

in the expansion of

FtEMy g (If the polar coordinates of a

point is (3, 150°), then its Cartesian
coordinates are)
( (
AlM33 B [¥3_3
\ 2 2 L 2 2
(
C. i p. (.33 3
2/ L 2 2
y=kx - 1Feae® y = x° + 3 3a0dn —nfs oo

k @ 3% W9 (The straight line y = kx — 1 will
be a tangent to the curve y = x° + 3 if one of the
values of K is)

Al B.22 C.3 D.4

FROA?

07.

08.

09.

10.

11.

12.

13.

14.

(@@ wFs Jrs7 A qFad (The equation of the

circle whose diameter is the line segment
joining the points (4, 3) and (12, —1) is)

A X+y +8x—2y+51=0

B.x*+y —8x—2y+51=0

C.x’+y +8x+2y—51=0

D.xX+y —-8x—2y—51=0

sinA+cosA=sinB+cosB,A+B=
AT B.2n c.t D. L
2 4

cotZO—(\/§+1)cot9+\/§=0,0<9<g-m,e
= (if cot’ 0 — 3+ 1) cot 0+/3=0,0<0<
T

E,thenﬁi)

AL BRI I T
63 4’3 375 63
fIR 5 R & f(x) = e w1 A@w@ifis T 201 f

'(e) @@ T=- (If f:R — R is defined by f(x) =
e, then the value of f '(e) is-)

A. 4 B.3 C.2 D.0

fafie st 1111111 = RS et 101 T3 S+t
Tt ssie® = (If the binary number 1111111

is divided by the binary number 101, the

remainder is)
A.0 B. 10 C.11 D.100

x20,y20,x+y<5 x+2y>8"SiqAA z =
2x — y 9% 74w 99 (The minimum value of z
= 2x — Y, subject to the constraints x 20,y >

0, x+y<5 x+2y=>8,is)
Al B. -1 C.4 D. -5
1
= FRGR BImdR R @@ (The
y -y (
domain and range of the function y
1

= are

v4-x )

C.—°°<X<4;OS}/<°°
D.<x<4,0<y<eo
sin 7x —sin x

: e
Bm, 0™ Gin 6x )

A. % B. —% C.1 D.-1

ABC faet& a:b:c = 3:7:5 T2 /B =? (In the

triangle ABC, if a:b:c = 3:7:5, then ZB =?)
A. 60° B. 30° C.90° D. 120°

o0¢
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15. 2x’ - 7x + 5 = 0 STRFaR Prew o R P, @@= x’ | 25 |
_4x + 3 = 0 TR T B R YT () + 00) TS fawmme | e A 1 (Two forces 8N
. _ and 3N are acting on an object at a point with
(Y- = 2(If o and B are the roots of the 60° angle. The magnitude of the resultant of
equation 2x" — 7x + 5 =0 and 'y and P are the the two forces is)
roots of the equation x> — 4x + 3 = 0, then (Y A. V13N B. J97 N
to): (y-a)=7?) C. 55N D. 1IN
A.65  B.56  CIlil D16 26. 1+(1+2)+ (1 +2+3)+ ceeeeennne + n % AW
16. ABC @36 sttt fage zta (If ABC is a right 4% (to n terms) = -
angled triangle then) cos’ A + cos’B + cos’ C ] 1
P A.gn(n+1)(2n+1) B.'gn(n+1)(n+2)
1 :
A~ Bl CO0 D-l C.2nn+1)(+2) D %n(n+1)(n+2)
17. 6% IET GRS & ARIR 3B 7o (I IS Tl (n+3) , : ,
3 o IEE @R 2 O IR 6w m @ awe | 27 K- 2+ (Y -3) =16 = (x-2)" + (y - 10)
*1c2? (In how many ways a team a team of 3 =9 i 58 - ('.I‘he coordu;ates 4
d 2 girls can be formed from a grou th2e S o1 contaczt of the clrzcle (’f ) r(y-
b;’(yssban g‘g ) group 3)’ =16 and (x=2)* + (y = 10)* =9 is)
= AR L Lo LR E A, {2 B. (16 C.2,10) D.(2,7
A. 10 B.20 C.50 D. 200 (2,3) , (16,9) (2, 10) 2,7)
18. 9 FH I AT EFT 0T (1-0) (1-°) | 28. z=1- wiw AR TEAR € 6T
1-o0)d-oe)aea = Jf ois a complex I_L
b t of unity, then the value of (1 — 1+1
8‘ _em'z‘)"zl‘i (::4;11&’_ mse)nis) ¢ value of (1 - ) (The modulus and z.nrgument of the complex
A.18  B.6 C.-9 D.9 aMmberz=1- — ' are)
19. sec’(cot™ 3) + cosec’(tan™' 2) = ? | 1
A.i—z B.—z—g- (:.199 .% 1+1 s
1t n
o v o Smxtesx ey oo o LA L0 B.LZ ClLm D.1,=*
Y T {1+sin2x ix - YT YT 29 k@ om wew W y = kx(1 — x) I5EE g
sin X + €os X then & =) #fA~Te =3B x-TTwFT A 30° I TedAg FR?
\/1 + sin 2x’ dx (For what value of k the tangent to the curve
‘3' 2sm2x  B.0 C.1 D.cos2x y = kx(1 — x) at the origin makes an angle
9. flx _ 5 dx =? 30° with the x-axis?) A
o A3 B —= c. ¥ bpi
A .=  B.25 C.50 D. 5 V3 _
.2 30. 7 <X <- 1 (¢ REREGR NICT P Vet
e (1+x)
22. | cos’(x &) dx = f(x) +¢; f(x) =2 (expressed in terms of absolute value, -7 < x
A. sin(xe”) .- B.tan(xe") < -1 becomes)
C. cot(xe") D. sec(xe”) A lx+3|<4 B.x+1]<3
% C.lx+4|<3 D.|x—-4|<1
23. | f(p)f'(p)dp =? Answer Keys: 1.C 2.C 3.C 4.C 5D 6D 7.C
0 8D 9.A10B11.D12B 13.C 14D 15C 16.B
A L P B. Ly 17D 18.D 19.A 20.B 21.B 22.B 23.C 24.A
% ' 2 25.B 26.B 27.D 28.D 29.B 30.C
C. - [ fx)Y - {£f(0)}*] D. f(x) - £(0) enafAs== (Biology)
24. v =16xX aR y = 4X TR WG ¥R c¥agA- (The | 01. I TFAY FH- (Cell was named by-)
area of the region bounded by y' = 16x and y A. Robert Hooke
=4x 18) B. Robert Brown
A. 2 unit® B.—Zunit? C. 2unit? D. L unit? C. K.R. Poeter
3 3 2 3 D. Antony von Leeuwenhoek
S
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02

03.

0S.

07.

08.

10.

11.

fatsr (1= &% ¢t +2? (Which one of the

following contains cristae?)
A. 33@E (Ribosome)

B. si&rre (Lysosome)

C. w155 (Chloroplast)

D. =25 =Ea (Mitochondria)

&= e 7T TSI AT 8 F&1 IR ATG? (For
the shortage of which mineral leaf and

flower drop off occurs?)
A_ 357%™ (Phosphorus)

B. mmisias (Magnesium)

C. % (Iron)

D. 5w (Potassium)

A FiRitte WifSate s I? (Which one

of the following does contain anticodon?)
A. DNA B. mRNA C.tRNA D.rRNA

=Y Remma = i IS JAefds o?
(In which phase of cell division bivalent
develops?)

A. “i1312f67 (Pachytene)

B. sRenfow (Zygotene)

C. w516+ (Leptotene)

D. =375 (Diakinesis)

G2 (m=T sRIERRT? (Which one of the
following is a disaccharide?)

A -Glucose)  B. @& (Fructose)

C. o™ (Maltose)  D. ayf¥ars (Raffinose)

fama @Rfores (eee wity? (Which one of
the following has holdfast?)

A. Chlamydomonas B. Ulothrix

C. Pyrobotrys D. Volvox

@6 Riccia-<a3 taf#2y 71? (Which one of the

following is not a character of Riccia?)
A =z EEs (Body thalloid)

B. 7= =% (Body vascular)
C. =% =7=751%1%06 (Body gametophyte)
D. === (Non flowering)

r==%7 &3 (Guard cell is a part of-)
A . s)  B.94s9e@ (Hypodermus)
C. rasax.ermis) D. #f6@& (Pericycle)
AR == =a3T 301 ATP I35 T¥? (How
many ATPs are used in glycolysis?)
A. 93f5 (One) B. %26 (Two)
C. f&af6 (Three) D. =55 (Eight)
ot e e Rz == Fr==? (Lema and
palea are parts of what?)
A. 1330 (Spikelet)
C. =t (Leaf)

B. *=™«a= (Anther)
D. fg¥= (Ovule)

12.

13.

14.

15.

16.

17.

18.

19.

20.

T QA I & AT JATFT ST
(Emasculation of flowers is performed to
prevent for what?)

A. *-*rarirEe (Cross pollination)

B. T& #=1E1 (Open pollination)

C. =2’ (Self pollination)

D. 7-a32 A3-*R’M1ER (Self and cross pollination)
CrylAc f&=2 ¥ @=f6? (Which one is the

source of CrylAc gene?)

A. Agrobacterium tumefaciens

B. Bacillus thuringiensis

C. Agrobacterium tritici

D. Bacillus denitrificans

farsa =6 = Sfew? (Which one of the
following is a xerophytic plant?)

A. Opuntia dillenii B. Nipa fruticans
C. Ottelia alismoides D. Lemna minor

farsa = BRWL R7As2™? (Which one of the

following plants is extinct?)

A. Corypha taliera B. Albizia procera
C. Dillenia pentagyna D. Streblus asper
TR MNFER = (et THOAAT A ¢ TIAG! TH
witz? (Which group of animals has three pairs
of thoracic legs and one pair of antenna?)

A. 39l (Crab)  B. 5% (Shrimp)

C. Mt (Spider) D. @&+ (Butterfly)
e @ difacs it Tm? (Which animal
bears haemocoel?)

A. 978 (Grasshopper)

B. f53f6f® (House Lizard)

C. =R (Bird)

D. 198 (Human)

T AR SIRETIG TN IR (3 Ao s=oys?
(Which part of the ear is involved with
maintaining equilibrium in human body?)
A. A= 7ifAfag (Membranous labyrinth)

B. fiv w= #f6 (Organ of corti)

C. fowafaz *m! (Tympanic membrane)

D. sifeast (Maleus)

IR IEMT Jg7 94 FO? (What is the
total number of Cranial nerve of human?)
A. 106 B. 12/ C.20f% D.24f6
faen (3R R mgrEn feermm i Ree @
(Which one of the following hormones is

secreted from human ovary?)
A. Aa3BF (Prolactin).

B. catst6a4 (Progesteron)
C. sfFeeis= (Oxytocin)
D. er=rtethfes (Gonadotropin)

)G
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23.

24.

25.

26.

27.

28.

29.

Admission Tech

one of the food ingredients is partially
digested in mouth?)

A. foB1fim (Vitamin) B. =&t (Carbohydrate)

C. wifyg (Protein)  D. #31ft wnifsie (Fatty acid)
FAWITASTAANR [N (ARA (FIH TTHA T I
qitx? (Which organ of human body is
responsible for osmoregulation?)

A. 339 (Liver) B. == (Pancreas)

C. 3% (Kidney) D. =% (Lung)

Zf*S (T WIFA ¥R WS 43 (The membrane
that covers the heart-)

A. =5 a (Periosteum)
B. coifesif@am (Pericardium)

C. cofaesiffams (Peritoneum)

D. coifezfgms (Pericondrium)

ZREIT S vov dfesarr F 3?7 (What is the
name of speed movement mechanism of
Hydra?)

A. Tef (Looping)

B. f& @&t (Somersaulting)

C. wiftawms (Gliding)

D. =171 (Floating)

‘Q’ TS PR afey @RG? (Which one is the |

characteristic of ‘O’ blood group?)

A. A-af5tea TBAAf¥® (Presence of antigen A)

B. B-af%tem ©of§® (Presence of antigen B)  °
C. A a3 B-afotem BAfge (Presence of antigen
A and B)

D. A 933 B-aftte S 9°f¥s (Absence of antigen
A and B)

=T tew gy «f4o%? (Which one is the

double recessive epistasis?)
A. 3:1 B.2:1 C.13:3 D. 9.7

S| q Bt = Wfiw I@F? (Who is the
inventor of vaccine?)

A. s @3 f&s (Watson and Crick)

B. @usars & R (Edward Jenner)

C. witaeied @i (Alexander Fleming)

D. =3m1$ (Lamark)

‘wfffem w3 I IR AR W Foem
s’ 3R 3o i g3ifs zF? (In which
year the book named ‘Origin of Species by

Means of Natural Selection’ was published?)
A. 1865 B.1859 C. 1959 D. 1836

@ wFre @gFme 4=®A <41FE? (Which bone
contains glanoid cavity?) .

A. F%E (Scapula)

B. R®mwatst (Humerous)

C. afes-w=t (Radio-ulna)

D. tiafea =wees (Pelvic girdle)

01.

02.

03.

04.

0s.

06.

07.

08.

09.

10.

11.

12.

(Which animal is found only in the Oriental
ion?) _
A. ¥fem= (Gharial)

B. si®12 (Rhinoceros)

C. o611 (Tuatara)

D. 2831 g g1fG+7 (Duck billed Platypus)
Answer Keys: 1.A 2.D 3.A 4.C 5B 6.C 7B -

8.B9.A10.B11.A12.C13.B14.A15.A 16.D
17.A 18.A 19.D 20.B 21.B 22.C 23.B 24.B
25.D 26.D 27.A 28.B29.A 30.B

=T (Bangla)

‘AR MR 40w FaFa FEn JArx [een oiEn
= e ctETeR?

A. tAfarzsz B. =afitse

C. frmrge D. a7 “1f=

¢-g f2f e = A0 vw?

A. q@ATN  B. o=@t C. @ D. 293+

W WAFE S (TR *rH?

A. 49 B. @@ C. T4 D. Bz
TR TR 31?7

A. 93 B. u3f@s® C. a3@ D. a3ifFg
@ HeTRA I TF?

A. 37T, =AT B. SefEt, #e+l

C. fo=z, womag D. (13, 51
“oficafA” IS IS ‘ARG’ WHITFR ‘@R’

S ‘Tif¥’ w7 D -SIn! IAIHFE-

A. i+ s waf5 B. T ¢ #1fH
C. wrafa s =1afH D. of¥ ¢ &%
FIA0 CTNHD =1%?

A. .7t B AR C. @RIy D. @
@R == Bowsfraes #f3s?

A. 93w B.wwEw  C. @ D. q&i¢

TESA TGS FIY QRS (I I JJIZS
Th?

A. SR ST B. o/ woiwa
C. IO TSI D. Rrafos SeiewE
"% Wog 9o AT T AfRS SO SIE -
A. @fffRefg B. Jfiteaw  C. wodfiead D, Resy
‘wift wifa @ ATRITS 9T T2 % -9R Y
STeRIfTet g W o’ g WS tTAFIH-

A. Retee-gRn wiffs <3y

B. Reig-gan wifEe <3y

C. form-Rotee-gin wifks 153

D. sra-favege-gay wifes I5a1E

T > N ot @R /sy afem?
A. |/fafadz B. el
C. s D. 3%{gfe

ot
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13. wnifas feam e R o e @ |

csf% L6 | ﬁﬁvs i B

28.
T RS TR A ffRs B.=s C.w= D. Tw<
A. FEAT™RT B. Rrzaeats 29. Refreifs #wreitya B R @R wow?
C. A= D. WerRaR [egy A. SIR-&REw B. T -@mwI
14. == w3 J¢ [remre A8 3@ ¢ R[eiEer C. ciffes-c@fs D, @afzs-sRta
) 30. ‘oEWiR T ISYADT -
B. fati=rs 4w A. RETRT 341 B. Sl 3t
C. D. fen freraa C. Rt v D. pR =
15. == - ERAfRCS WIRTETS FA6IE [ Answer Keys: 1.D 2D 3D 4B 5.C 6.A 7.C
~rare AR fEE1? 8B 9.B10.A11.B 12.C 13.C 14.C 15D 16.B
i o AR IS B. 3% A0e3 (! 17.A 18.C 19.D 20.C 21.C 22.B 23D 24.C
C. 3T F0ed =T D. FIEN @€ 25.D26.C 27.C 28.C29.D 30.D
16. ‘3T ST IS IF- ENGLISH

A. 5 7vtE ReIw 3331 & Read the following passage and answer question
B. Rzt Reeted 3 &= 1-5:

C. Rrrete faafRuess sam & } Nine years ago, a rice paddy in eastern Java
D. Rtseaa R[Rem Fa@ w0 suddenly began spewing steaming mud. Before

17. ‘IwsiEt’ RS (TR 539 CAAFT TTe (AY? long, 1t covered three square miles; roads, factories
A. 39 (I g9 B. 49 51 539 and homes disappeared under a tide of muck.

C. 3 7% 534 D. A%T (4(F WBW 53 Twenty lives were lost and nearly 40,000 people
18. == o&? | displaced, with damages topping $2.7 billion. The
A. ‘igﬁaﬂfﬂ B. ‘i@ﬁ?ﬂ?t disaster, known as the Lusi mudflow, continues to
C. 753t D. ys¥feaA have its impact till now. A mud volcano, Lusi

19. casmﬁ fEnfarree Rer Refs?
A TR T IR P
B. “1t%2 412 13 farg=
C. 99 93 TR 9F 9JF I
D. IF TR 99| I (I
20. fRsa ceAbre wifSyfae wef earen?

expels water and clay rather than molten rock. Such
eruptions occur around the world, but Lusi 1s the
biggest and most damaging know. Scientists have
debated the cause for years, and two intensely
argued hypotheses have emerged: Some believe an
earthquake set off the disaster, others that the

A. 51 D1t B. caior terg mudflow was caused by a company drilling for

C. carot =17 D. cmot 3 natural gas. Researchers largely relied on computer
21. ‘ci=E ==S A3 zware- models and comparisons with other earthquakes and

A. &z B. Saraamsy mud volcano eruptions. But recently scientists

C. FeIaamn D. Serfrare uncovered a previous overlooked set of gas readings
22. ‘unanimous’ *TA Wd- collected at the drilling site by LapindoBrantas, a

A T TS 8IS B. F&TTe natural gas and oil company, in the days before the

C. ====s D. sfaifrs mudflow began. In a report in the journal Narure
23, pr- EEdE E? Geoscience, the researchers said that the new data

A= B. == C.*& D. Pz proves that the drilling by the company caused the

24 =% @R ot feRwem @ R awR | Gisaster.

01. The passage is about

B. 7% .97, A. Indonesia’s nine-year-old volcano’s eruption
D. f&.f. B. Mud versus usual volcanoes in science
25. z=fe C. Indonesia’s mud volcano and its causes
A. 39 B. =% C. 3= D. v D. Why Indonesia’s dormant volcano became active
26. ‘IS’ (IR AT BETm=r 02. Volcanoes usually spew
A Sow fyraE B & as:fzﬂ?m A. hot mudflows B. stinking mud
C. & IV D sxgomren TR C. stinking muck D. melted rock
27. AT S =% FH? 03. A synonym of ‘expel’ would be
A ST B. St C entish D, oede
C. S D. s . extinguis .

>3
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04. Which statement is false according to the | 17. The people of Western Canada have been
information presented in the passage? considering — — themselves from the
A. Two major causes of Lusi’s eruption have rest of the country.
been confirmed A. to separating B. separating
B. Lusi caused thousands of people to leave C. separate D. separated
their homes 18. Phosphates -——--- to most farm land in
C. Mud volcanoes are not uncommon in the world America.
D. Drilling for natural gas might have caused A. need added B. need to add
the volcano C. need to be adding D. need to be added

05. ‘Largely’ can be replaced by all except 19. To check acidity, one had better -
A. chiefly B. mostly litmus paper.
C. predominantly D. generously A. using B. useful C. usable D. use
Fill in each blank with the most appropriate | 20. I often wonder how :
word/s (Questions 6-23): A are get on B. are you get on

06. Scientists have ——-—— fossils of a human- C. vou are getting on D. are you getting
like creature in a deep cave in South Africa. 21. a busy city, Pompeii was virtually
A. unleashed B. unearthed destroved by the eruption of Mount
C. untied D. undercut Vesuvius in 79 A.D.

07. Counting is a combination of several skills, A. Once B. It was once
each on the other. C. Once 1t was D. That once

- A. building B. reinforcing 22. It seems strange, it really?

C. shaping D. improving A.isn't  B.doesn’t C. shouldn’t D. hasn’t

08. Migrants streaming into Europe have —---- | 23. Everyone ate snake soup, Halima.
- fierce storms, navigated turbulent waters A. and B. so C. but D. all so
and encountered police batons. 24. Choose the correct option:
A.tested B.losttg C. braved D. asked for A. One of the boy’s are meeting me today

09. Lions are extremely good --——— weighing -- B. One of the boy is meeting me today
------ their odds of success in terms of the C. One of the boys are meeting me today
number of themselves versus the number D. One of the boys is meeting me today
roaring from a loudspeaker. | 25. “Relating to improving human lives and
A. 1n, at B. at, up C. at,at D. at, in reducing suffering” refers to

10. 15-year-old Anurudh Ganesan has invented A. humanism B. humanity
a portable refrigeration system that enables C. humanitanian D. humanizing
doctors to transport vaccines safely and | 26. “An organization that people give money to
effectively. A synonym of the underlined so they can help other people” is a
word is A. chaniot B.clanty C. concern D. chanty
A. mobile B. molecular C. potential D. mortal | 27. A svnonym of ‘pertinent’ is

11. Don’t be so impatient! — . A. particular B. disturbed
A.I’'m coming B. I have been coming C. relevant D. penetrate
C. I come D. I coming 28. An antonym of ‘precursor’ is

12. Most metals expand and contrast --———— A. pioneer B. predecessor
variations --—-- - temperature. C. forerunner D. successor
A. with, in B. from, of 29. Which one is the correct spelling?
C. by, of D. to, from A. blasphamy B. blasphemy

13. The university will build a new dormitory — C. blesphemy D. blesphamy
---------- campus. 30. The correct translation of “<fs W™ e
A. in B.on C.over D. at =™ is |

14. I can’t quite -————- out what the sign says. A. I was there for a small time
A.read  B.make C. get D. carry B. I was there for a short time

15. I don’t remember : C. I was there for a short-lived time
A. what 1s her name B. her name 1s what D. I hardly stayed there
C. what her name 1s D. is what her name Answer Keys: 1.C 2.A 3B 4.A 5B 6B 7.A

16. 1 will phone Bahar as soon as I ———— any 8.C 9B 10.A 11.A 12.A 13.D 14.B 15.C 16.C
news. 17.B 18.D 19.D 20.C 21.A 22.B 23.C 24D
A. will hear B. heard C. hear D. would hear 25SD26.D27.C 28.C29B 30D

O
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